
3. 0.1 mm : 1 ชั ตอน 2

20 หนา: <ข้อ : 100 ชื 3. เพิ่มขขึ้ น

:. เป็ น 5. 136 :1.3 M P

4.5 mm / s

1000 mm': 54 · 1 < 4. ลดลง 70 % : เหลือ 30

&: 100 S. :.เหรือ
10.30 :3 ห

8. 10280): 3 watt 5. 104 - 80 : 24/

องค

9. 1 0.2 W/ m.ร 3 จาก Pa. S: Pa = s

1 +: 10 K /M 1.16 Sa. S:9

:- พรตั :0.2 . . . . . 1 &: 58 Pa

13.55 + 0.15:55.25 9 20- 14.6:5.4 /

14 จาก WHC : มวลรายน้ ุมวลดแห

WHC: S020: 1.5

? ใช ้แต ่ 10% :1. 8.เล%แจ:1. 08.

15.100 19 m: 0.29

18 ทที่ เ เพิ่ม นา :อุกร 2.3 1000km.: 2. I

17. 100 km. : 0.1 &

10 เดิม 50,เพพิ ม 1500km: 0.14.15:1.1

:10. So : 55

18. 15 + 80 : 105%

13 ลด 15 % : เหลือ&5

:เหลือ
!ง.200:17


